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Find the correct statement for sentence “\Colorless green ideas sleep Answer
furiously.” option
(a,b,c or
d)
a) Gramma | b) Semanti | C) Both d) Neither
tically correct cally correct but | semantically grammatically
but grammatically | and nor a
semantically wrong grammatically | semantically
wrong correct correct
Read the following statements — one labelled as Assertion (A) and
other as Reason (R): Answer
A: Language is a rule-govern system shared by a group of people to option
express their thoughts and feelings. . (a,b,c or
B: All languages are different from each other. d)
Find the correct codes from the given below:
a) Ais true | b) BothA | ) Both A | d) Both A
but B is false and B are true and B are true and B are false
but B is not the | and B is the b
correct correct
explanation of | explanation of
A A
Match the following pairs of synonyms:
A Amazing 1 Predicament
B Dilemma i1 Conceal Answer
C Awful iii Incredible option
D Hide iv abominable (a,b,cor
d)
a) A-iii, B-i, C- | b) A-iv, B-i, C- | ¢) A-i, B-iii, C- | d) A-iii, B-iv, a
iv, C-iii. iii, D-ii iv, D-ii C-i, D-ii
Teacher said to me: “Why are you talking in the class?” Answer
option
(a,b,c or
d)
a) Teacher | b) Teacher | C) Teacher | d) Teacher
said to me why | said to me that | said to me why | asked me why I
you were why you are you are talking | was talking in d
talking in the talking in the in the class. the class.
class. class.
In the questions, the sentence is split into four parts and named A, B, C | Answer
and D. These four parts are not given in their proper order. Read the option
sentence and find the correct order. Q: a global language(A)/ because it | (a,b,c or
is spoken and understood at an international level(B)/ English is d)
considered (C)/ by a wide variety of people.(D)
a) ACBD | b)BDAB | c) CABD | )ABDC c
Ministry of Tribal Affairs was established in which year
a) 1998 | b) 1999 | ¢) 2000 | d) 2001 b
National Education Society for Tribal Student is
a) Statutory | b) Autonomous | ¢) Private Body | d)None of these b
Body body
Benguela Ocean Current belongs to which region?
a) Indian \ b) North \ ¢) Pacific Ocean \ d) South d
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Ocean | Atlantic Ocean | | Atlantic Ocean

9 Project ISHAN is related to

a) Clean | b) Efficient | ¢) Renewable | d) Agricultural b

Drinking Water | Traffic Energy Source | Productivity

Operation

10 Which of the following article mandates the State to protect childhood

and youth from exploitation, including physical and mental abuse?

a)Article 39 [b)Article 40 | c) Article 41 | d) Article 42 a
11 Mount Semeru, an active volcano recently seen in news is located in

which country?

a) India | b) Japan | ¢) Indonesia | d) Australia C
12 Annual Survey of Industries (ASI) helps in collecting which of these

kinds of data?

a) Labor b) Labor | c)Both labour | d) None of these c

Cost Turnover cost and

turnover

13 Shompen tribes belong to which region in India?

a)Arunachal b)Andaman c)Bihar d)Orissa b

Pradesh Nicobar
14 In which year, Royal Peel Commission found the ratio between the

number of British and Indian soldiers in India?

a) 1850 | b) 1852 | ¢) 1859 | d) 1868 c
15 Which resolution has been hailed as ‘Magna Carta’ of local self-

government?

a) Lord Mayo | b)Lord Ripon | c) Bothaandb | d) None of these b

1870 1882
16 Yullo is 20th from the left end of a row and Milloh is 12th from the right

end of row. If they interchanged their positions, then Milloh ranks

become 10th from right end. Find total number of persons in the row?

a) 29 | b) 30 | ¢) 39 | d) 20 a
17 The simple interest on a certain amount of money for 2(1/2) years at 12%

per annum is Rs. 25 less than the simple interest on the same sum for

3(1/2) years at 10% per annum. Find the amount.

a) Rs. 500 | b) Rs. 600 | ¢) Rs. 700 | d) Rs. 800 a
18 How many times do the hands of a clock point towards each other in a

day?

a) 24 | b) 12 [ ¢) 20 | d)22 d
19 What are the next two terms in the series?

6,20,8,14,10,8,12, ,

a) 4,10 b) 4,12 | ©)2,18 | d)2,14 d
20 In certain code, ‘CENTRAL’ is written as ‘LARTNEC’,How is

‘SEMINAR’ written in that code?

a) NARIMES [ b)MESIRAN | ¢) RANIMES | d) NARISEM c
21 Which of the following statements are true for qualitative research:? Answer

A: Qualitative research employs an objective approach. option

B: Qualitative research is holistic in nature. (a,b,c or

C: The reasoning used to synthesize data in this research is inductive. d)

D: The reasoning used to synthesize data in this research is deductive.
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a)A&Bonly |[b)C&Donly |[c)B&Conly |d)A&Donly c
22 Which one of the followings is the correct format for citing a book in | Answer
American Psychological Association (APA) style:? option
(a,b,c or
d)
a) Bryman, A. | b) Braman, A. ¢) Braman, A. d) Braman, A. a
(2016). Social | 2016. Social (2016). Social | 2016. Social
Research Research Research Research
Methods. Methods. Methods. Methods.
United Oxford Oxford Oxford
Kingdom: University University University
Oxford Press, United Press, United Press: United
University Kingdom Kingdom Kingdom
Press
23 Find the following correct pairs: Answer
A. Nominal | i. Attitudes option
B. Ordinal i1. Gender (a,b,c or
C. Interval iii. Height d)
D. Ratio iv. Temperature
a) A-iv, B-iii, C- | b) A-iii, B-i, C- | ¢) A-ii, B-i, C- | d) A-ii, B-iii, C- c
i, D-ii ii, D-iv iv, D-iii i, D-iv
24 How can the objectivity of the research be achieved? Answer
option
(a,b,c or
d)
a) Through | b) Through | ¢) Through | d) All of d
its impartiality | its transparency | its validity these
25 Which method is the most appropriate for collecting comprehensive | Answer
population data? option
(a,b,cor
d)
a) Census | b) National | ) National | d) Demogr a
Sample Survey | Family Health | aphic Health
Surveys Surveys
26 Which one of the following is an indication of the quality of a Research | Answer
Journal? option
(a,b,cor
d)
a) h-index | b) Impact | C) g-index | d) i10- b
factor index
27 Find the following correct pairs: Answer
A: Chi- | i. Testing the significance of the difference of mean option
square test values between two large size samples. (a,b,c or
B: Z- test ii. Testing the goodness of fit of a distribution. d)
C: T-test iii. Testing the significance of the difference of mean
values among more than two sample groups.
D: F-test iv.Testing the significance of the difference of mean
values between two small size samples when
opulation standard deviation is not available.
a) A-ii, B-i, C- | b) A-iii, B-i, C- | ¢) A-ii, B-iii, C- | d) A-ii, B-iii, C- a
iv, D-iii ii, D-iv iv, D-i i, D-iv
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28 Read the following statements — one labelled as Assertion (A) and other | Answer
as Reason (B): option
A: JSTOR is a digital archive of academic journals, books and primary | (a,b,c or
sources. d)
B: It is useful for the researchers to access different research journals.
Find the correct codes from the given below:
a) Both b) Both C) (A)is d) (A)is b
(A)and (B) are | (A) and (B) are | true, but (B)is | false, but (B)is
true, but (B)is | true and (B) is | false true
not the correct | the correct
explanation of | explanation of
A) (A)
29 Hypothesis is Answer
option
(a,b,c or
d)
a) Interpret | b) Conclus | €) Compari | d) Relation d
ation of the data | ion drawn from | ng the between
the existing assumptions variables
data
30 The variable that is the effect of another variables is Answer
option
(a,b,c or
d)
a) Nominal | b) Interven | C) Indepen | d) Depend d
ing dent ent
31 Pilot survey is conducted Answer
option
(a,b,c or
d)
a) in the b) after C) in the d) before d
middle of a finishing beginning of a | conducting of a
research research research research
32 Researchers who study humans by residing in particular societies and Answer
observing the behaviors of the people are: option
(a,b,c or
d)
a) Paleoant | b) Ethnogr | C) Archeol | d) Sociolo | b
hropologists aphers ogists gists
33 A doctor studies the relative effectiveness of two drugs of dengue fever. | Answer
His research would be classified as option
(a,b,cor
d)
a) Descript | b) Experim | C) Case d) Ethnolo | b
ive research ental research study gy
34 Plagiarism is Answer
option
(a,b,c or
d)




a) The b) Abody |cC) Abody |d) The a
practice of of ideas that of ideas that practice of
taking someone | believes in the | believes in the | sharing one
else's work or need for giving | need for giving | work and ideas
ideas and constant constant freely with all.
passing them pleasure to self. | pleasure to self
off as one's by making the
own. body suffer.
35 SPSS stands for — Answer
option
(a,b,c or
d)
a) Statistic | b) Statistic | C) Statistic | d) Statistic | b
al Package for | al Package for | al Package for | al Package for
Social Sciences | Sociological Scientific Social Studies
Studies Studies
36 Which one of the followings is the non-probability sampling? Answer
option
(a,b,c or
d)
a) Stratifie | b) Snow- | C) Systema | d) Cluster | b
d sampling ball sampling tic sampling sampling
37 Which of the followings are the aspects of research ethics? Answer
A) Maintaining confidentiality or respect the privacy. option
B) Seeking consent or informed consent of subjects. (a,b,c or
C) Respect for intellectual property Rights. d)
D) Using appropriate research methodology.
a)Only Aand B | b) Only Band | c¢) Only C and d) All the above | d
C D
38 Find the Median of the given set of data 10, 5,9, 12, 7, 14, and 3 is: Answer
option
(a,b,c or
d)
a) 7 | b) 9 ) 12 | d) 10 b
39 Which of the following central tendency measures include the magnitude | Answer
of scores? option
(a,b,cor
d)
a) Mode b) Mean C) Median | d) All of b
these
40 Find the odd one out: Answer
option
(a,b,cor
d)
a) Positive | b) Neutral | ¢) Positive | d) Zero b
skewness skewness skewness skewness
41 How many types of Kurtosis are there? Answer
option
(a,b,cor
d)
a) 3 | b) 4 D) 2 | d) 5 a
42 Which of the following is highly uncontrollable in terms of focussing on
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particular topic in research study?

a) Focus Group | b) Interview c) Regular | d) All  are
Discussion meeting correct

43

Which of the following is/are correct as per Ethnographic Research?
1. It is inductive

2. It is longitudinal

3. It is exploratory

b) Only 1 |b)Only2istrue | c) Only 1 and 2 | d) All are true
is true is true

44

Which of the following type of narrative analysis involves using
personal narratives to explore cultural experiences and identity
formation?

a) Thematic | b) c) d)  Discourse
Analysis Autoethnograph | Phenomenologi | Analysis
y cal Analysis

45

Which of the following has main objective of isolating the placebo
effect?

a) Cohort Study ‘ b) Blind Study ‘ c) Panel Study ‘ d) None of these

46

Evaluation Research is concerned with

a) What | b) Why [ c) How well | d) When
researcher is | Researcher is | researcher is | Researcher is
doing? doing? doing? doing?

47

Which of the following is not a type of qualitative interview?

a) Unstructured | b) Semi | ¢) Focus group | d)  Structured
Interview Structured interview interview
Interview

48

The logic of induction is very much related with

a) Philosophical | b)  Historical | ¢c) Theoretical | d) Behavioral
Researches Researches Researches Researches

49

Assertion(A): Reviewing the literature is a continuous process.
Justification(B):It begins before a research problem is finalised and
continues until the report is finished.

a) BothAand B | b) A is correct | c) A is incorrect | d) Both A and B
is correct, and B | and B is | but B is correct | is incorrect
explains A incorrect

50

Which of the following is/are correct as per Hawthorne Effect?

1. Behavioral change in respondent site after being observed

2. Negative behavioral change in respondent after being observed
3. Positive behavioral change in respondent after being observed

a) Only1 |b)Only2is c)Only 1 and 2 | d) All are true
is true true is true

d

51

The concept of binary distinction was used to explain-

Answer
option
(a,b,c or
d)

a) Structuralism | b) Structuralism | ¢) Structuralism | d)  Structural-
by Edmund | by Levistrauss | by Rodney | functionalism
Leach Needham by  Radcliffe
Brown

b

52

Match the following books with the authors:

Answer
option




A. The Munda and Their | i. L.P. Vidyarthi

(a,b,c or

Country d)
B. Tribal Life in India ii. David Mandelbaum
C. The Sacred Complex of | iii. S.C. Roy
Khasi
D. Society in India: Change | iv. N.K. Bose
and Continuity
a) A (iii), B (iv), | b) A (iv), B (iii), | ¢) A (ii), B (iv), | d) A (iv), B (iii), a
C (1), D (i1) C (1), D (i) C (1), D (iii) C (i1), D (1)
53 From the statements given below state which one is true and which is | Answer
false: option
(A) Stratification is based on culturally invented differences between (a,b,c or
groups of people. d)
(B) Racial categories can be considered innate and universal because it
has always existed around the world.
(C) Since ethnicity is void of cultural ideologies which facilitate
structural violence and stratification, it is not racialized.
(D) Racism and racial thinking are cultural constructions based in
ideology not biology.
a) Aand C are |[b)Aand Dare |c)A, C & D are | d) Only A is true b
true; B and D | true; B and C true; B is false
false are false
54 Given below are two statements, one is labeled as Assertion (A) and the | Answer
other is labeled as Justification (B). option
A: Assertion: Ethnic boundaries are important for group self- | (a,b,c or
identification. d)
B: Justification: Minority groups do not have self-identification as they
are unable to form ethnic boundaries.
a) Both (A) and | b) (A) is wrong, | ¢) A) is correct, | d) Both (A) and c
(B) arecorrect. |but (B) is|but (B) is | (B) are wrong.
correct. wrong.
55 The “Thick Description’ approach is a method followed by- Answer
option
(a,b,c or
d)
a) b) Structuralist | ¢)Symbolic- d) Modernist c
Postmodernist interactionist
/Interpretivist
56 A type of observation method where complete participation of the | Answer
researcher is not possible is- option
a) Quasi- | b) Direct | ¢) In-direct | d) Non- a
Participant Observation Observation Participant
Observation Observation
57 Match the following: Answer
option
A. Mores i. a norm that is so strong that it often brings revulsiofaj,ct qr
is violated; associated sanctions associated with bregkingljt
may be quite severe
B. Norms ii. norms that are customary, normal, habitual ways of doing
things with which no strong feeling of right or wrong is
attached and no strong sanctions are attached
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C. Folkways | iii. norms that are associated with relatively strong feelings
of right or wrong that have relatively strong sanhctions
attached

D. Taboo iv. the shared rules of conduct that specify how people ought
to act

a) A (iv), B (iii), | b) A (iii), B (i), | ¢) A (iv), B (iii), | d) A (iii), B (iv), d
C (i1), D (1) C (iv), D (ii) C (1), D (i) C (i1), D (1)
58 Which of the following statement is true for ‘society and culture’? Answer
option
A. Change is a constant in studying culture and society. (a,b,c or
B. Society may survive, but culture may change. d)
C. Culture is constant while society changes.
D. Socialization may be a process of adopting and accepting one’s
culture.
a)A,B&D b)C& D c)A,B&C d)A&C a
59 Given below are two statements, one is labeled as Assertion (A) and the | Answer
other is labeled as Justification (B). option
(a,b,c or
A: Assertion: Mass media has become an important agency of d)
socialization.
B: Justification: Access to mass media is growing and mass media
influences attitudes, values and beliefs.
a) Both A & B | b) A is correct | c) Both A & B | d) A is incorrect c
are true but B is | but B is wrong | are correct and | but B is correct
not justification B is justification
of A of A
60 In Science, a hypothesis that has been confirmed through numerous tests | Answer
is known as: option
a) an | b) Speculation | c) an opinion d) a theory d
assumption
61 Which one is the lowest level of measurement where there is an exact | Answer
difference between attributes and values? option
a) Ordinal b) Ratio c) Interval d) Nominal c
62 Match the concepts in Column I with the meanings in Column II Answer
option
Column [ Column II (a,b,c or
A. Long distance nationalist i. Actions taken by people to d)

improve their lives or assert
their state membership.

11. Strategies taken by people to
circumvent and/or benefit from
different nation-state regimes.
iii. Immigrants with a shared
identity and political ideology.
iv. People of a shared identity
who migrate to different places

B. Substantive Citizenship

C. Diaspora

D. Flexible Citizenship

throughout the world.




a) A (iv), B (iii), | b) A (iii), B (i), | ¢) A (ii), B (iv), | d) A (iv), B (iii), b
C (i1), D (1) C (iv), D (ii) C (1), D (iii) C (1), D (i1)
63 Which of the following statements are true for Phenomenological | Answer
Research? option
A. It emphasizes generalization from samples to similar populations. (a,b,c or
B. It is not very concerned with generalization to larger population, but d)
with contextual description and analysis.
C. Relies on deductive approach.
D. Seeks the opinions and subjective accounts and interpretations of
participants.
a) Only Dis true | b)A & C are c)onlyCistrue |d) B & D are d
true true
64 Given below are two statements, one is labeled as Assertion (A) and the | Answer
other is labeled as Justification (B). option
(a,b,c or
A: Assertion: Money for vote cannot be termed real democracy. d)
B: Justification: In electoral democracy freedom to vote should not be
subject to undue influence.
a) Both A& B|b) BothA & B|c) only A is|{d) Only B is b
are correct and | are correct but B | correct correct
B justifies A does not justify
A
65 The aims of Democratic Socialism is: Answer
option
a) bringing | b) bringing | ¢) bringing | d) bringing d
about socialism | about socialism | about socialism | about socialism
through through violent | through violent | through
peaceful means | and democratic | means democratic
means means
66 The word Folklorism was coined by Answer
option(a
,b,c or
d)
a) Hans Moser | b) Regina | c) Hermann | d) Roger D. a
Bendix Bausinger Abrahams
67 Hermeneutics deals with Answer
option(a
,b,c or
d)
b) Textual b
a) Story telling | interpretation c) Narrative | d) Semiotics
inquiry
68
According to the World Health Organisation, which of the following are
features of a Healthy City? Answer
option(a
A) A 'clean and safe' environment. ,b,c or
B) Easily accessible 'health' services for everyone. d)
(03] Meets the 'basic need' of all its inhabitants.
D) Involves the 'community in local governments
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a) A is | b) A and B are | c¢) C is correct d) All the above d
correct correct
69 A: Assertion - Holistic scope of folklore means that all aspects of a
culture are interrelated. Answer
B: Justification - Festival has many important dimensions such as | option(a
economic, political, entertainment, and religious. ,b,c or
d)
a) Aand B both | b) A is incorrect | ¢) B is incorrect | d) Both A and B
are correct. and B is correct. | and A is correct. | is correct and A d
is the correct
explanation of
B.
70 The term ‘Motifeme’ is introduced into folklore studies by Answer
option(a
,b,cord)
a) V. Propp b) J. Handoo c¢) Alan Dundes | d) Y. M. C
Sokolov
71 The author of “Folklore: The pulse of the people” Answer
option(a
,b,cord)
a) Mazharul b) L.P. c) P.D. d) Sankar Sen a
Islam Vidyarthi Goswami Gupta
72 Match the following:
Answer
A English Folklore Society  [1)1859 option(a
B American Folklore Society |ii)1888 ,b,c or
C Journal Folk Life iii)1963 d)
D The origin of Species iv)1878
a) D--1, B-ii, C- | b) A--iv, B-iii, | ¢) C--i, A-ii, B- | d) A--ii, B-iii, a
iii, D- iv C-ii, D-1i iii, D- iv C-iv, D-1
73 The World Health Day is celebrated on Answer
option
(a,b,c or
d)
a) 1st March b) 7th April c) 6th October | d) 10th b
December
74 Match the following:
A The Panchatantra i Theodor Benfey Answer
B The Athenaeum ii Folk Narrative option(a
C Sanskrit-English Dictionary iii Ambrose Merton ,b,cord)
D Primitive Culture iv E.B. Taylor
a) A--iv, B-iii, | b) A--iii, B-iv, | ¢) A-ii, B-iii, C- | d) A--ii, B-iii, C
C-ii, D-1i C-ii, D-1i -1, D- v C-iv, D-1i
75 Ethnomusicology sees the importance of music in culture, this was first | Answer
used by option(a
,b,c or
d)
a) Charles | b) Zaap Kunds | c¢) Bela Bortok | d) Zoltan b
Seeger Kodaly
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76 A term derived from formal logic that refers to a relation between a pair | Answer
of sentences such as the truth of the second sentence necessarily follows | option
from the truth of the first is
a) implicature b) entailment c)inclusion d) hyponymy b

77 Match the items from List [ with List II: Answer

option
A. Cognates 1. Phonetics
A Speech Sounds ii. Dialect Geography
B. Speech variation iii. Lexicography
C. Dictionary iv. Comparative Method
a) b) c) d) c
A (iv) B (iii) C | A(i) B(iv) C(ii). | A(iv) B(i) C@i). | A (iii)) B (ii)
(i1). D (i) D(iii) D(iii) C.(iv) D
(0)

78 Which of the following is True or false about “Queer Studies? Answer
A. Queer Studies are studies of non-normative and homosexuality. option
B. Queer studies are new term for LGBT studies.

C. Queer Studies are post modern studies.

D. Queer Studies believe in dichotomy of sexes.

a) A and D are | b)A,B,and C | c¢) B is True and | d) A is True and b
true and B and | are true and D A, C, D are|B, Cand D are

C are false is false. false. false.

79 A: Assertion: Any two languages are likely to differ in many ways such | Answer
as word order, word structure, idioms, proverbs, semantics, discourse | option
and lexical ambiguity.

B: Justification: For most pairs of languages it is not possible to translate

word for word.

a)A is True and | b)A is true and | c)Both A and B | d)Both A and B c
B is false B is false are true are false.

80 Which of the following laws provided for the share of a Hindu widow in | Answer
her husband’s family’s property though she could not alienate or sell her | option
share of the property?

a) b) c) d) d
Sharda Act | Hindu Widow | Hindu Hindu Women’s
(1829) Remarriage Act | Succession Act | Right of
(1956) (1956) Property  Act
(1937)

81 When linguistic forms of genetically related languages show | Answer
phonological and semantic identify, they are termed as option
a) Relic Forms | b) Synonym ¢)Antonym d)Cognate d

82 Match items in List I with List II: Answer

option
A. Agnosia 1. Acquired difficulty in reading
B. Agraphia il. Impairment of voluntary and purposive
movements
C. Alexia iii. Inability to associate meaning with
sensation.
D. Apraxia iv. Acquired difficulty in writing.
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a) b) c) d)
A (i) B(v) | AGv)  Bgii) | A(i) BG) | A () Bi)
C(i). D(ii) C(ii) D) C(iv). D(iii) C(iii). D(iv)

83

Which are true regarding ell Hyme’s use of the concept ‘ethnography of
communication’ .

A. How and why language is used by the speakers in a certain way and
how it varies from one culture to another.

B. Communicative efficiency of the speakers of a speech community.

C. The differences between a standard language and its dialects.

D. Ethnic elements in the communicative activities of a society.

Answer
option

a) Ais true and | b)Aand Bare |c) A and B are | d) A, B,Cand D
B,C,D are false. | true and C and | false and C and | are all true.
D are false. D are true.

84

Assertion and justification

A: Assertion- The term competence refers to the knowledge of the native
language which is acquired along with the language used by an ideal
speaker/listener of a heterogenous speech community

B: Justification- The ability to produce and understand grammatically
well-formed utterances along with the knowledge of their
appropriateness in the context in which they are made is known as
communicative competence.

Answer
option

a) Both A and B | b) A is True but | ¢) A is False but | d) both A and B
are True B is False B is true are false

a

85

In the sentence, ‘ I felt that he was a fool’, ‘that’is a :

Answer
option

a) b)Preposition c)Vocative d)Complementi
Co-ordinating zer
Conjunction

d

86

The traditional term for a grammatical class of words is

Answer
option

a) Forms b) particles c) tones d)parts of
speech

d

87

Match List I with List II and select the correct response:
LIST I LIST 11
A) irregular verb 1. cry, live, laugh

B) intranstitive verb | ii. bled, burnt, sown
C) deictic verbs iil. loudly, quickly
D) Adverbs iv.come/go, bring/take

a) b) c) d)
A(), B(iii) C(i) | AGii) B@) C(iv) | AGiv)  B(ii) | Adii) B(i) C(iii)
D(iv) D(iii) C(ii). D(i) D(iv)

88

Identify which statements are True and False :

Which of the following statements are true or false for features of Natural
Language?

A. Speech is primary and written forms are secondary.

Answer
option
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B. Symbols of Language are arbitrary.

C. Sign Languages have developed grammatical structures.

D Animal communication system is as creative and productive as
Human Communication System.

a) A and B are | b) A, B, C are c)A, Cand D|d) A, B, D are b
true and C and | true and D is are true and Bis | true and C is
D are false. false. false. false.

89 Assertion and justification Answer
A: Assertion-Women in tribal society continue to be governed by | option
customary laws and norms.

B: Justification-Women in tribal society are empowered as compared to
their women counterpart in non-tribal society.
a) Both A and B | b)Aistruebut B | c) A is False but | d) Both A and B
are True is false B is true are false. b
90 A broad transcription is a transcription that : Answer
option
a)broadly b) includes | ¢) includes | d) includes d
ignores the | symbols for | symbols for all | symbols for all
difficult sounds | only the | the phones and | the phonemes
syllables write them | and write them
between | | between / /

91 The word ‘hand’ in the sentence ‘He is my right hand’ represents a | Answer
semantic change which is called option
a) Metonymy b)Metaphor c)Hyperbole d) Synecdoche a

92 Match List I with List II: Answer
List I List IT option

A. Conscious 1. Implicit Memory

B. Unconscious i1. Procedural Memory

C. Motor Skills i11. Explicit Memory

D. Own Experiences iv. Episodic Memory
a) b) c) d)
A (iv) B(ii) | AGiii) B(1) CGi) | A (1)  B(ii) | A(ii) B(iv) | a
C(1). D(ii) D(iv) C(iv). D(iii) C(iii) D(1)

93 Identify True False statements regarding language: Answer
Language can be consideredas option
A As a means of communication.

B. As pair of grammar and lexicon

C. Gestures and signals

D. Only a means to get job.

a)A,Band C|b)AandBare |c) A and B are | d)A,BCand D b
are true and D is | true and C and | false and C and | are all true.

false D are false D are true.

94 Answer
A: Assertion- In a Pidgin, there is a radical simplication of linguistic | option

structure and a substantial reduction of vocabulary.
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B: Justification- When it is spoken by a large number of speakers, a
pidgin is designated as creole.

a) Both Aand B | b) A is true but | c) A is false but | d) Both A and B b
are true. B is false. B is True. are false.
95 When we study language as it exists at any given point in time we are | Answer
looking at it from a point of view called option
a) synchronic b) diachronic c¢)Structural d) tagmetic a
96 The Press council in British was replaced by Answer
option
(a,b,c or
d)
a) The Media | b) The Royal | ¢c) The News |d) The Media a
Complaints Press Council ombudsman
Commission Commission
97 ‘Deep Throat’ was the source of information for the reports investigating | Answer
option
(a,b,c or
d)
a) The | b) The | c)The d) The Irangate c
Mundhara Profumo- Watergate Scandal
Scandal Christine Scandal
Keeler Scandal
98 Match and choose correct option Answer
option
A. Kalakshetra i. Mumbai (a,b,c or
B. Kalamandalam ii. New Delhi d)
C. National Centre for Performingliii. Chennai
Arts
D. National School of Drama iv. Kerala
a) A-i, B-iv, C- | b) A-iv, B-i, C- | ¢) A-iv, B-ii, C- | d) A-iii, B-iv, C- d
i1, D-iii iii, D-ii i, D-iii i, D-ii
99 The dance performed by Men and Women together is known as Answer
option
(a,b,cor
d)
a) Dangi Nrutya \ b) Rouf \ c) Kolattam \ d) Lamabadi a
100 Which one of the following statement is true for dialect? Answer
option
(a,b,c or
d)
a) Regiona | b) Sub- C) Tribal d) Unscript a
| variations in a | standard variety | language ed languages
language of a language
101 A language that is at risk of falling out of use as its speakers die out or | Answer
shift to speaking another language is called option
(a,b,cor
d)
a) Non- b) Endange | C) Minor d) Native b
standard variety | red languages languages languages
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102 Read the following statements — one labelled as assertion (A) and other | Answer
as reason (B): option
A: A separate storage is kept for new artifacts in the museum. (a,b,c or
B: So that artifacts can be inspected for insect infestations or mould d)
growth.
Find the correct codes from the given below:
a) (A)and | b) (A)is C) (A)and | d) (A)is a
(B) both are right, but (B) is | (B) both are wrong, but (B)
right. wrong. wrong. is right.

103 A.W. Phillips Wage inflation unemployment tradeoff is based on which
of the following hypothesis?
a) Static | b) Extrapolative | ¢) Rational | d) Adaptive a
Expectations Expectations Expectations Expectations

104 If inflation is to be combated, the Reserve Bank of India
a) Raises | b) Lowers | c)Raises  both | d)None c
Statutory Statutory Statutory
Liquidity Ratio | Liquidity Ratio | Liquidity Ratio
and lowers Cash | and Raises Cash | and Cash
Reserve Ratio Reserve Ratio Reserve Ratio

105 Which of the following are the components of Aggregate Demand?
A Consumption
B. Investment
C. Government Spending
D. Net exports
b) Only A | b) Only A&B ¢) Only C&D d) All of the d

above

106
Assertion (A): The flow of goods and services in the economy may or
may not rise during an accounting year.
Justification (B): Rise in Nominal GDP accelerates flow of goods and
services.
a) BothAand B | b) A is correct | ¢) A is incorrect | d) Both A and B a
is correct but B is | but B is correct | is incorrect

incorrect

107 Match and choose the correct option
A. Old Age Pension [i. A component of corporate Profit
B. Corporate Tax  |ii. Closing Stock - Opening Stock
C. Change in Stock |iii. Factor Payment Method
D. Income Method |iv. Unilateral Payments
a) A-i, B-iv, C- | b) A-iv, B-i, C- | ¢) A-iv, B-ii, C- | d) A-iv, B-i, C- d
ii, D-iii iii, D-ii i, D-iii i1, D-iii

108 Growth Process resulting into broad based benefits and providing
equality of opportunity to all is referred to as
a) Inclusive | b)  Exclusive | ¢) Sustained | d) Faster a
Growth Growth Growth Growth

109 State whether the following statement is True or False:
“Rice Produced and consumed by the farming families themselves is not
included in national Income”
C) False b) True c)Mostly True | d) None of these a

but Not always
110 People Participation in Participatory development is
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a) Only a means | b) Only means | c) Neither a |d) an End not a
not an end to | to development | means nor an | just a means to
development end to | development
development
111 Assertion (A): Social work profession recognizes the family as an
important system in its own right.
Justification (B): The family as a unit is worthy of study and
intervention.
a) Both A and B | b) Both Aand B | c¢) A is incorrect | d) Both A and B a
1s correct, and B | is correct, but B | but B is correct | is incorrect
explains A do not explain A
112 Match and choose correct option
A. Working with Individuals |i. Funneling
B. Working with Groups |fii. Gherao
C. Working with iii. Person Situation
Communities Configuration
D. Social Action iv. Norming and Storming
a) A-i, B-iv, C- | b) A-iv, B-i, C- | ¢) A-iv, B-ii, C- | d) A-iii, B-iv, C- d
i1, D-iii iii, D-ii i, D-iii i, D-ii
113 ‘Power’ is gained where ‘Authority’ is
a) Acquired ‘ b) Possessed ¢) Imposed ‘ d) Nested d
114 State whether the following statement is True or False:
“Problems are Unmet Needs”- H. H. Perlman
a) True b) False c) True but d) None of the a
statement is not | above
given by H.H.
Perlman
115 The book “Strategies of Community Intervention” is written by
a) Jack | b) M.G. Ross c) H.Y. Siqqqui | d) K.D. a
Rothman Gangrade
116 Assertion (A): Abnormality definition carries 4D’s (Deviance, Distress,
Dysfunction and Danger).
Justification (B):As psychological disorders are different, extreme,
unpleasant, dangerous to others and they have the ability interfering in
person’s daily life activities in a constructive way
a) Both A and B | b) Both A and B | ¢) A is incorrect | d) Both A and B a
are correct, and | are correct, but | but B is correct | are incorrect
B explains A B do not explain
A
117 Match the following and Chose the Correct Option
A. Breakup from life partner I. Social Pressure
B. Working out Excessively get in a shape in a day ii. Conflict
C. Relatives Pressure to get excellent score in exams  |iii. Social Stress
D. Unable to choose between to study or watch a iv. Internal Pressure
movie
a) A-i, B-iv, C- | b) A-iv, B-i, C- | ¢) A-iv, B-ii, C- | d) A-iii, B-iv, C- d
i1, D-iii iii, D-ii i, D-iii i, D-ii
118 The concept of “self-efficacy” refers to an individual’s belief in: Answer
option
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(a,b,c or

d)
a) Their moral | b) Their level of | ¢) Their sense of | d) Their ability | Answer
values and | intelligence identity and | to perform (d)
character self-concept specific  tasks
successfully
119 Match List A with List B and choose the correct answer from the code | Answer
given below: option
(a,b,c or
List A List B d)
A. Historical Method 1. Past events
B. Survey Method i1 Vision
C. Philosophical Method iii Present events
D. Experimental Method iv Exceptional cases
v. Future action
a) A(i) Bf(ii) | b) A(l) B (i1)) C |c) A1) B(v)|d)A (i) B(ii) | Answer
C(i1)) D(v) (iv) D(v) C(@ii) D(v) C(@ii) D (iv) (b)
120 Historic Chandragiri Fort is located in which of the following states? Answer
option
(a,b,c or
d)
a) Andhra | b) Karnataka ¢) Maharashtra | d) Telangana Answer
Pradesh (a)
121 Assertion (A): Formal communication tends to be fast and flexible. Answer
Justification (B): Formal communication is a systematic and orderly | option
flow of information. (a,b,c or
d)
a) (A) is false | b) Both (A) and | ¢) Both (A) and | d) (A) is correct | Answer
but, (B) is|(B) are correct | (B) are correct, | but, (B) is false (a)
correct and (B) is|but (B) is not
correct correct
explanation of | explanation of
(A) (A)
122 According to Bloom’s Taxonomy, which level of learning involves | Answer
analyzing information and breaking it down into its component parts? option
(a,b,cor
d)
a) b) Analyzing c¢) Evaluating d) Answer
Understanding Remembering (b)
123 Who developed the theory of multiple intelligences, which proposes that | Answer
individuals have varying strengths and abilities across different | option
domains? (a,b,cor
d)
a) Erik Erikson | b)Howard ¢) Lev Vygotsky | d) Jean Piaget Answer
Gardner (b)
124 In the two sets given below Set - | indicate methods of teaching while Answer
Set - Il provides the basic requirements for success/effectiveness. option
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Match the two sets and indicate your answer by choosing from the (a,b,c or
code: d)
Set - I Set — 11
(Method of teaching) (Basic requirements for
success/effectiveness)
A. Lecturing 1. Small step presentation with
feedback provided
B. Discussion in groups ii. Production of large number of
ideas
C. Brainstorming iii. Content delivery in a lucid
language
D. Programmed Instructional iv. Use of teaching-aids
procedure
v. Theme based interaction among
participants
a)A (i) B(v) |b) A (iv) B(i) |[c) A @) B (i) | d) A(ii)) B(iii) | Answer
C (i) D (3) C (1) D(iii) C (iii)) D(iv) C(iv) D (v) (d)
125 Select the alternative which consists of positive factors contributing to | Answer
effectiveness of teaching: option
List of factors: (a,b,c or
A. Teacher’s knowledge of the subject. d)
B. Teacher’s socio-economic background.
C. Communication skill of the teacher.
D. Teacher’s ability to please the students.
E. Teacher’s personal contact with students.
F. Teacher’s competence in managing and monitoring the classroom
transactions.
a)B,Cand D b)C,Dand F c)B,Dand E d)A,Cand F Answer
(d)
126 Assertion (A): To communicate well in the classroom is a natural ability. | Answer
Justification (B): Effective teaching in the classroom demands | option
knowledge of the communication process. (a,b,c or
d)
a) (A) is true, | b) (A) is false, | c) Both (A) and | d) Both (A) and | Answer
but (B) is false | but (B) is true (B) are true, and | (B) are true, but (b)
(B) is the | (B) is not the
correct correct
explanation of | explanation of
(A). (A).
127 Which of the following is NOT a type of formative assessment? Answer
option
(a,b,c or
d)
a) Homework | b) Pre-test c¢) Classroom | d) Final exam Answer
assignment discussion (d)
128 Lev Vygotsky’s theory of cognitive development emphasizes the role of: | Answer
option
(a,b,cor
d)
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a) Maturation b) ¢) Individual | d) Social | Answer
Reinforcement | exploration interaction (d)
129 Match an item in List — I with an item in List — II. Use the codes given | Answer
below option
(a,b,c or
List I List 11 d)
A. Virilocal | 1) After marriage the couple settles
residence with the wife’s parents.
B. Uxori local residence | ii) After marriage, the couple settle
with husband’s parents
C. Avunculocal ii1) After marriage, the couple may
choose to settle either with
husband’s or wife’s parents.
D. Ambilocal | iv) After marriage, the couple
residence settles with husband’s mother’s
brother.
a) A(i) B(@)|b) A(@) B(i)|c) A(ii) B(iv) | d) A(ii) B(iii) | Answer
C(iv) D(ii1) C(iii) D(iv) C(i1) D(i) C(iv) D(1) (a)
130 Who amongst the following is renowned in the field of painting? | Answer
option
(a,b,c or
d)
a) Prof. T.N.|b)Ram Kinkar |c) Raja Ravi|d) Parveen | Answer
Krishnan Varma Sultana (©)
131 Given below are two statements, one is labelled as Assertion (A) and the | Answer
other is labelled as Justification (B): option
Assertion (A): Racism is a biological concept. (a,b,c or
Justification (B): Racism leads to prejudice. d)
In the context of above two statements, which one of the following is
correct?
a) Both (A) and | b) Both (A) and | ¢) (A) 1s true, | d) (A) is false, | Answer
(B) are true and | (B) are true and | but (B) is false. | but (B) is true. (d)
(B) is the|(B) is not the
correct correct
explanation of | explanation of
(A). (A).
132 Which of the following is NOT a characteristic of inclusive education? | Answer
option
(a,b,cor
d)
a) Emphasis on | b) c¢) Collaboration | d) Segregation | Answer
diversity Individualized | among of students (d)
instruction educators based on ability
133 Which among the following statements is INCORRECT regarding the
Indian freedom struggle:
(a) Gandhi Ji|(b) Gandhi Ji|(c) Mahatma | (d) Nehru was | Answer
withdrew from | gave his first | Gandhi was | the congress (©)

the non-
cooperation
movement due

public speech at
BHU.

arrested in 1921
A.D.

President at the
Lahore session.
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to the chauri
chaura incident.

134 Which of the following statements is/are CORRECT?
A. Jainism was started by Rishabhdev.
B. Lord Mahavira was 24th Tirthankar of Jainism.
C. Teachings of Jainism are given in Angar.
D. Jainism started Sanghas to spread its massage.
a)A,B,C,D b)A, B, C |¢)B,C,D |d)A,C,D (b)
135 The “Axial Age,” as proposed by Karl Jaspers, refers to:
a)The b) A period of | ¢) A period of | d) The decline | Answer
emergence  of | great social and | intense of religious (a)
major world | political religious beliefs and
religions  and | upheaval in | persecution and | practices in
philosophical ancient conflict favor of
systems around | civilizations secularism
the same time in
history
136 Which scholar is known for pioneering the academic study of
comparative religion?
a) Rudolf Otto | b) Mircea | ¢) Friedrich | d) Max Weber | Answer
Eliade Max Miiller ()
137 Arrange the following events in the CORRECT chronological order:
A. Jallianwala Bagh Massacre
B. Khilafat Movement
C. Formation of Swaraj Party
D. Arrival of Simon Commission
a) A, B, C, D|b)D,C,B,A ¢)B,C,D,A d)C,D,B,A Answer
(a)
138 Which theoretical perspective emphasizes the role of language,
discourse, and power in shaping religious identities?
a) b) Post | ¢) Conflict | d) Answer
Functionalism | structuralism theory Postmodernism (b)
139 The traditional Indian musical scale, which consists of seven notes, is
known as:
a) Raga b) Sargam c) Swara d) Tala Answer
Cc
140 Which ancient Indian text is considered the foundation of Hindu
philosophy and spirituality?
a) Vedas b) Upanishads | ¢) Puranas d) Smritis Answer
b
141 According to postmodernism in comparative religion, what is the nature
of religious truth?
a) Fixed and |Db) Objective | ¢)  Subjective | d) Authoritative | Answer
unchanging and universal and relative and (c)
unquestionable
142 The Indian epic Mahabharata is traditionally attributed to the sage:
a) Vyasa b) Valmiki c¢) Vishwamitra | d)) Ved Vyasa | Answer
a
143 Which of the following theoretical perspectives in comparative religion

focuses on the role of religious symbols and rituals in shaping individual
and collective identities?
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a) Conflict | b) Symbolic | ¢) Post | d) Answer
theory interactionism | structuralism Functionalism (b)
144 An extensive study on ‘magic’ among human societies was done by Answer
option
(a,b,c or
d)
a) Franz Boas b) McLennan c)Emile d) James Frazer | Answer
Durkheim (d)
145 Match an item in List — I with an item in List — II. Use the codes given | Answer
below option
(a,b,c or
List - I (Archaeologists) List - II (Sites excavated) d)
A. H.D. Sankalia 1. Mahadaha
B. R.S. Bisht i1 Utnur
C. F.R. Allchin iii Dholavira
D. G.R. Sharma iv Nevasa
a) A(i) b) A (ii) B() | ¢) A(ii)B(iv) C | d) A(iv) B(iii) | Answer
B (i1) C (ii1) | C(iv) D(iii) (1) D (i1) C(i1) D(1) (d)
D (iv)
146 Which Indian Academy is promoting dance, drama and music? | Answer
option
(a,b,c or
d)
a) Sahitya | b) Lalit Kala c) National | d) Sangeet | Answer
Academy Academy School of | Academy (d)
Drama
147 Given below are two statements, one is labelled as Assertion (A) and the | Answer
other is labelled as Justification (B): option
Assertion (A): Emic Approach in Anthropological research is useful to | (a,b,c or
trace out the ‘insiders views’ on the research problem. d)
Justification (B): It helps the Anthropologist to give semantic
explanations about the research problem from people’s perspective. In
the context of the above statements, which of the following is true?
a) Both (A) and | b) (A) is false | c) Both (A) and | d) (B) is false | Answer
(B) are not the | and (B) is true | (B) are true and | and (A) is true (©)
correct (B) is the
explanation. correct
explanation of
(A).
148 The concept of “learning styles™ refers to: Answer
option
(a,b,c or
d)
a)  Individual | b) The cognitive | ¢) The cultural | d) The preferred | Answer
differences in | abilities of | background of | method of (a)
how people | learners students instruction  for
learn students
149 The Tibetan Book of the Dead, also known as the Bardo Thodol, is a text
from which branch of Buddhism?
a) Zen \ b) Theravada \ ¢) Mahayana \ d) Vajrayana Answer
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(d)

150

Which Buddhist text contains the sermons and teachings delivered by

Gautama Buddha during his lifetime?

a) Vinaya Pitaka | b) Sutta Pitaka | c) Abhidhamma
Pitaka

d) Diamond
Sutra

Answer

(b)
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